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m Tag : 7|2 24
m X L ALRI9| Z[CH FE : 200 bytes(C++),

49 bytes(Python)
m First to Solve : s} A& (4 min)
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s 24| 2 HL2I9 Z|CH L : 870 bytes
m First to Solve : 1111 (38 min)

m First to Solve (Open) : povwhm (27 min)
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m First to Solve : KR815KR (19 min)

m First to Solve (Open)

=2 C{Ct 2019 SHECHS

: kem1700 (29 min)
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m X L ALRI9| 2[CH BE : 711 bytes(CH++),

374 bytes(Python)
m First to Solve : S4/3H10| (214 min)

m First to Solve (Open) : tlwpdus (22 min)
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AF7| (Small)

m Tag: J2|C]
n EA4 L 52O 2T ZE ;479 bytes
m First to Solve : Z&H|% (80 min)

m Open ContestOfl= SA|Z|A| GAUELICH
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B. 2101 7| (Large)

m Tag: J2|C]
m 24 L 522 2T 2E ;496 bytes
n WL CH3[0|= EA| %[ A] LUSLICE

m First to Solve (Open) : august14 (11 min)
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m Tag : H|E A Constructive, OF0|C|O

m 24 Y A9 Z|CH T E : 239 bytes
m First to Solve : Ci7t2| 2 50| F£E Atdste E &
=242 B0 SHyRE

m First to Solve (Open) : ainta (15 min
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m First to Solve : KR815KR (165 min)

m First to Solve (Open) : august14 (99 min)
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m Tag: E2|, A& 2R
m A 2 HLRIO| 2T FE : 1661 bytes
m First to Solve : S4I3H=10| (195 min)

m First to Solve (Open) : onjo0127 (158 min)
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J. Bad Hair Day?} 7|CHZt

m 24 L HL2I9| 2T B E : 519 bytes(C++),
249 bytes(Python)
m First to Solve : S4/3H10| (136 min)

m First to Solve (Open) : ainta (159 min)

LH=2GCt 2019



il d

ol

au

<G+ of

[ -

- 1o

g U

ou B

R X

S ol

T

o ™

3 nfo

A_l _.__E

~d Bu

S <t

U

o XN

W

+ 5
KA o
E OF
ok o) w._._ o
.. —_ _./_._._ ﬂ
= 25

o K Jmu










ICHOIZ] 2

s

| A7t 22 &=t

oto
T =

L|C}.

ol
o
U

uyl
<o
(=)
=
o
(Y]
o
Jup




NO| B4 ot 4 TS Li-ot 23 TELIC
BOI4 Ay.; = A2t BIAIC Of2f & 2248 2E5

m NO| Bg [, A2 LHEEE Ay ;2 Z0F0F

a NO| B4 T, A2 ChUHE Aws,

A0fOF LTt

LI=2GCH 2019 SECH3]



)
o
KD <D
a@. o3
H
< 7D
< 10
ml g o
s 1o
TR
F T~
— ™ <+
o oW
¢ oo
w0l 2
oOF~1=2=%
(1] R | 2
~ U
H < 0
S 8 Wl
uu Jo KO
<+ 20 ol .
oy g
X v o &
S W oo g
N RO RO ity




m 23 U AAZI0| Z|THAC - 615 bytes

m First to Solve : 2|FE 52| Z5EZEA| (152 min)

m First to Solve (Open) : ainta (90 min)
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m 23| U HAZI0| Z|TH T - 1143 bytes

m First to Solve : S4I3H=10| (23 min)

m First to Solve (Open) : ainta (78 min)
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m 23 U AAZI0| Z|THAC - 816 bytes

m First to Solve : HLDZO0} (172 min)

m First to Solve (Open) : cki86201 (29 min)
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m 23| U HAZI0| Z|CH T - 2615 bytes

m First to Solve : 777 (? min)

m First to Solve (Open) : 777 (? min)
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